1.

Al B4 A = 2x%y — xy* + 3%, B = —2xy* +2)°,C = x> + y* |
ti5ted (24 - B) + CE AXISHH?

@D 2x3 —4x2y + 3y? @ —x3 4 2x%y -3
@ 2x3 + 4x%y —y? @ x® +4x%y 4+ 3

® x3+4y3



2. TR 4 5% —kx—k 7hx—1 2 Lol Hol X R AL & O] g1
Ffoet.

s
=¥



2 1
— 2
x*+(a 1)x+1a +a-2=0°0] A2 T}E F



4.

o] 2+

Al
ay

e

s
=¥

P-3x+1=09 %



5. the T A Aolo] Adg Ftelet,

A(V5-1,1-v2), B(V5,1+ V2)

& e
=%



ol
N

@ 13 B 14

12

® 11

10



1 ?
x / 6y f!_“ /\ |_]]

-2,-3)
D (2,-4) @ (2,4) @ (
@ (-2,3) ® (4,-4)



B

N

ity

0|

o OT_
N ~&
T
™
iy +
o] S
M0 =
L E
7~ o
N .
£
o ©
GO
S
L
KEom
o ™
oF X
B o
B o
70
B

@ 3 ® 5

1



A 312 Z

[e]
&) 29

ik

i

A% vl

mlo
rst

9. o

IH

@ (x-y-1)*=x>+y*+1-2xy-2x~2y
@ (a+b)?*(a-b)?=a*-2a?b* + b*

® (—x+3)3 =x%-9x% +27x - 27

@ (a-b)(a®>+ab-b*) =a*-b*

® (p-D({P*+D(p*+1)=pt-1



52

O
=

T a+bo AL




L1 34420 00 58 2719 49 § 2 A8 5 02
z2

© z-z= sl

@ (+1(E+1)2 Agolct

® 9,0 09, ® 60
@6)7@7@ ©®7©)®7@



12. X -px+q=09F Z0)a, goltt. a+B=3, af=2% 1 p? + ¢
o] ghg Fatolat,

s
=¥



o5 & 147k shel ZolH F
13. "=

1
x2—2x+2)(x? -2x+ 1)

2_2x+2)(x=1)(x+1)

D (

@ ( 1
® (¥®*-1)(x*-2x-1)
@ (F2+1)(x-1)(x+1)
® (

(2 —2x+1)



14.

=
=
2

o]

dA(G,-11), B(-4,7) ¢ i, H2 ABE2:1 2

2
BEPa, b), AR ABE 2:1 2 E5I= HO HEEQ

Ol a4+ b+c+d 2 S FSHA?

D 8 ® 9 3 10 @ 11



15. =3 A(1),B(5) ol thoto] AR ABE 3: 12 YEok= 4 Pop A5
ABE 312 eliske 4 Q Aole] A=IE Patolet

YR
=%



16. T y=x3 Y A= & Al H A, B,C9] x3tx1
St Al H AB,C7F €A flofl & o, o=
L9
@ a+b+c=0 @ a+b+c=1 @ abc=1

@® a+c=2b B ac = b?



17.

+y? = 2kx + 2ky + 3k* —

dk+2 =10 9]

WAL 0, P4k O] T oA



18. o+ F2x2 —xy -y —dx+y+29] A5 A2

@® 2x+y-2 @ 2x-y+2 ® x-y+1

@ x+y-1 ® x-2y-1



19. FH3argte] AZ7t 191 5 o] Atrkaral o] HAFul4Tt 13 —2x2—5x+6
ol 1, AF7t x4+ 22 wf, F thara] o] ghe?

® 2x24+x-6 @ 2x2-2x+3 @ 2x2-3x+4

@ 2x2 -6 G 2x2 8



® 4

@ 2

— | O



21. A (a+1)x+2y+1=0, ax—y+2=00°] £Z0] HE& 5}=
BE 44 a®] 3o &2

@D -2 2 -1 3 0 @ 1 B 2



AP - (x

D -3<k<1

@ -4<k<?2

—1)+27FF A (-1, 0), (0, 3) Ao]E AUYEE Ab4
kel % 94 s

gotH?

@ -2<k<3 @ -1<k<?2

B -1<k<l1



x2 - bx

ax —c

G

a+b

© ab @ a—>b

T mt1
,a#+b)
a->b
® a+b

@ a+b

-1 )
M= oA o] Aighe 2 B

® a-b

o
—



24.

®OS(J<1 ®1SG<2

@ 3<a<4 B 4<a<h

=
n

o] BE 1Rt 2

® 2<a<3

A~
A5 a



25. #=m

e

Srt1 o 29T e MA2Y

Ael) o AL BE D A Aok

A

C

My

B(25,26)

@D 17}

Y

@ 274 ® 374 @ 47§

B oA xBE} y 2T B 52l Fe AR ol

Ay =

® 574



